



1





# in other locations

# Consultations

The consultations were done with face-to-face workshops and questionnaires distributed to the community. The first round consisted of Workshop sched-uled for July 12, 2019 with preliminary material sent to the Regional District and the community well ahead of the actual workshop date. The meeting occurred in the area designated as the "Dining Room" in the

The group was extremely responsive and engaged as we discussed the community's vision for how the community centre should function. The clear indication emerging from the workshop is that the community centre is a vital location and the centre of community life and enjoys use from across all areas of the community.

community centre.

The second part of the workshop covered the functional needs of the facility and how they were related to one another.



Existing Gymnasium

Page 5



Page 6

#### Results of the Workshop

٠

The discussion revealed the basic vision of the facil-ity as follows:

- Space that is clean and comfortable
- Available to all agesDesigned with a sense of community
- Designed with a sense of communityMake the internal flow logical
- That it be warm in the winter
- That the facility have adequate power for as-sembly events
- That the centre be perceived as the centre
- of the community and be a landmark. • Have adequate support for a business
- centre
- That there be a larger gymnasium

As can be seen in the photo to the right by the clus-tering of the green dots that mark the individual votes on the most important elements of the goals for the facility, the two most important elements were:

 A gymnasium that was a more workable size - at least that of a typical elementary school
That there be the proper infrastructure for the fa-cility in terms of electrical capacity, proper me-chanical ventilation and heating, and gas ser-vice instead of the existing propane.



#### Programming

The information gathered at the meeting of July 12, 2019 also provided what was required to prepare a program of the space needs. Once the functional uses were established, Thinkspace benchmarked the uses to similar facilities and placed calculated the net areas required for each one of the functions. This was also compared to the spaces now available. This information is captured in the area to the left on the spreadsheet.

The area of the spreadsheet that captures the room functions and sizes required is on the left of the spreadsheet - tinted light yellow here. The portion of the spreadsheet to the right captures the actual existing area of those functions - here tinted light red. The summary of the areas needed and existing is shown at the top of the following page.

The existing net program area available in the building is **594.10 SM** with a required net area of **749.0 SM**. That is a shortfall of **154.9 SM**. The approximate gross building area required to meet the program is **1,198.4 SM**. The gross area of the existing building is **816.49**. This suggests an addition of some **381.91** SM is required.

Page 8



<image>



ticular function. The result is a series of coloured connections between the adjacent functions that expresses the frequency and the function to which that adjacency is required.

In the diagram generated for our spreadsheet, the space marked "Gathering" has the most frequent indication of a required adjacency and therefore is the largest. That is followed by the "Front Entry", then "Front Office" and so forth.

### Connections

The outer circle then connects functions together. In the diagram, the "Gathering" function has eight connections to other functions with the heaviest of these connections to the "Front Entry" function. You can trace through the adjacencies by following the connections between functions. The relative sizes of the functions and the connections are again based on the number of times the adjacency is indicated.

The chord diagram clearly shows the importance of the gathering space identified in FRONT E the program. All public functions are marshaled around this key location. Any solution to the program would require a central



<image><image>

area for this gathering function that in turn leads to all of the other principal functions within the facility that is shown in the connections in the chord diagram. This immediately identifies a key problem with the existing building: it does not have a gathering area and the functions are strung out along a corridor.

#### **Developing a Solution**

The Thinkspace architectural team worked with the programming document and the chord diagram to develop an approach to the building that could meet the program and yet work with the existing building in a positive and optimal way.

The original scope of this study was to include three alternative approaches. The Peace River Regional District later advised us that two approaches would suffice provided that one alternative considered what could be achieved within the existing envelope and the second looking at the implications of the full program allowing expansion beyond the existing envelope.

## **Objectives of the Alternative Schemes**

The two alternatives that are presented here have sev-eral commonalities based on the siting of the existing building. These include:

- The need for clear visibility from the administrative offices to both the entry and the internal circulation
- Ability of users to see and understand what is occurring within the building. This is intended to make the experience of the Community Centre more inclu-sive and functioning clear

GYM (FUL SIZE - ELEMINANT COMMERCIAL KITCHEN. MORAGE SPACES. WELL INCUBATOR INCUBATOR DIMING SPACE WITH THE VIEWLY	ACCESSIBILITY WASHROOMS MMK - BETTER SERVE SPACE (RECINFIGURE) CHILDCARE - ACTUTY CENTRE ( <u>HIL AGES</u> ) MIKER SPACE PLAYGROUND WIRE SPACE SPACES	PROPER FURNITURE/ EQUINMENT ADJECTISEMENT- SIGNS PARKING FIRST AID ROOM
--	--	--





<list-item><list-item><list-item><list-item><list-item><list-item><text>











KELLY LAKE COMMUNITY CENTRE - ELEME	ITAL COST SUM	MARY	OPTION 1			
	Ratio	Elemental Cost	Rate per gross ma			
Element	to GFA	Quantity Unit Rate Sub Total	Total Cost	Sub-Total	Total	%
SUBSTRUCTURE			\$4,412.41		\$5.18	0.174%
Normal foundations	0.02					
Earthwork for Building Special Conditions	0.02	21.11 m <sup>2</sup> 162.12 \$3,422.35		\$4.01		
Special Conditions	0.00	21.11 m146.90 \$990.06	\$15,087.53	\$1.16	\$17.70	0.596%
Slab on Grade	0.02			\$0.00		
Suspended Floor Construction	0.02	21.11 68.01 \$1,435.69		\$1.68		
Roof Construction	0.02	21 11 200 20 46 240 65		\$7.45		
Structural Walls	0.00	21.11 345.91 \$7,302.16 290.69	\$653,269.93	\$8.57	\$766.33	
EXTERIOR CLADDING		290.69		\$0.00		25.790%
Roof Finish	0.03	21.11 m² 231.91 \$4,895.62		678		
Walls Below Ground Floor Walls Above Ground Floor	0.0	33 m <sup>2</sup> 125.00 \$4,125.00		\$0.4 \$434		
Walls Above Ground Hoor Windows	0.1	0 m2 810.32 \$0.00		500		
Exterior Doors and Screens	0.1	119 m <sup>2</sup> 4,809.49 \$572,329.31		\$57138		
Window Shutters	0.0	4 No 17,980.00 \$71,920.00		\$84.37		
Sunshades	0.0	0 m <sup>2</sup> - \$0.00		\$000		
Balcony and Projections	0.0	0	188 933 11	\$0.00	\$221.63	
INTERIOR PARTITIONS		0 m <sup>2</sup> 230.79 \$0.00		\$000		7.459%
Permanent Partitions	0.4	1				
Interior Windows	0.1	385.6 m² 173.79 \$67,013.42		\$78.61		
Operable Walls - Solid Acoustic		112 m <sup>2</sup> 750.00 \$84,000.00 0 \$0.00		\$98.54		
Operable Glazed Walls	-	0 16,764.29 \$0.00		\$0.00		
Gym Divider Curtain Interior Doors	-	0 \$0.00		\$0.00		
Interior Doors Hardware		17 Lvs 1,410.74 \$23,982.58	\$0.00	\$28.13		
VERTICAL MOVEMENT		17 Lvs 819.83 \$13,937.11		\$16.35		0.000%
Stairs	_			\$0.00		
Elevator			100 056 96		\$117.37	
Ramps and Steps			\$100,036.96	0.00	5117.37	
INTERIOR FINISHES						3.950%
Floor Finishes	0.6	522 nº 80.32 \$41,927.04 522 nº 79.57 \$41,535.54		\$49.18		
Ceiling Finishes Wall Finishes	0.6	522 m² 79.57 \$41,535.54 522 m² 31.79 \$16,594.38	\$97.239.46	\$48.72	\$114.07	
FITTINGS AND EQUIPMENT	0.6	522 nº 31.79 \$16,594.38		\$19.47		3.839%
Milwork	0.2	250 m² 81.43 \$20,357.50		\$23.88		5.03374
Whiteboards/Tackboards	0.6	522 m <sup>2</sup> 7.43 \$3,878.46		\$4.55		
Miscellaneous Specialties	0.6	522 m <sup>2</sup> 0.32 \$167.04		\$0.20		
Miscellaneous Metals	0.6	522 m2 9.66 \$5,042.52		\$5.92		
WC Access and Partitons	0.6	522 m² 11.77 \$6,143.94		\$7.21 \$0.00		
HC Lift	-	·		\$0.00		
Counter Grills	-			\$0.00		
Walk Off Matts	-	\$1,500.00		\$1.76 \$1.11		
Signage Mirrors		\$950.00		\$1.11 \$3.52		
Mirrors Rough Carpentry, Caulking, Fire Proofing	-	\$3,000.00 \$45,000.00		\$52.79		
Kitchen Equipment (Commercial)	1	\$10,000,00		\$11.73		
Gym Equipment		\$1,200.00	\$131,538.78	\$1.41	\$154.30	
Sealants and Firestopping		1				5.193%
ELECTRICAL		522 m² 62.00 \$32,364.00		\$37.96		
Services and Distribution	0.6	522 m² 98.00 \$51,156.00		\$23,27		
Lighting	0.6	522 m <sup>2</sup> 38.00 \$19,836.00		\$2320 \$7.96		
Power	0.6	522 m² 13.00 \$6,786.00		\$7.96		
Fire Alarm	0.6	522 m² 20.99 \$10,956.78		\$7.96		
Tel/Data Security	0.6	522 m² 13.00 \$6,786.00 522 m² 7.00 \$3,654.00	\$243.064.08		\$285.13	
Security PA and Ancillary Systems	0.6	JAL 1.00 \$3,034.00				
PA and Ancillary Systems	0.6					9.596%
Mumbing and Drainage	0.6	522 m² 90.11 \$47,037.42		\$55.18		2.320%
Fire Protection	0.6	522 - 22 52 616 000 66		\$19.92		
	0.6	RIVER 522 298.00 \$155,556.00		\$182.48		
	0.6	RIVER 522 no 45.00 \$23,490.00		\$27.56		
OVERHEAD AND PROFIT, GC FEE			\$221,995.39		275.21	8.764%
SOFT COSTS			\$463,567.34			18.301%
DESIGN CONTINGENCY			\$413,899.41 \$2,533.064.43			16.340%
NET BUILDING COST			\$4,533,064.43			1000016

## ative 1

osts of each option were developed to a class D using current costs for a more remote loca-tion. losest major centre is Grande Prairie which is a one hour drive from the western edge of the he cost of the demolition and rebuilding of the r is approximately **\$2.53 million**. This includes de contingency, soft costs and contractor ead, profit, and fees.



PEACE RIVER REGIONAL DIS	TRICT			SPATIA	NEED ASSESSMENT F	OR: KELLY LAKE COMMUNITY CENT	APPENDIX 1
		_	AS FOUND				_
	Existing Tel 2019	et k	AS FOUND	- 0			
Ref No. ROOM NAME	No. of Sta Milow (str Area (as n	AS FOUND LOCATION		loung loung	County	COMMENTS	
	2 4 4	2		~ ~	*		
A-10 NOMDURL AND SHARED OFFICE SPACE							
winc	PERALLOW 2.6.5 13.0	Portaliza	ASPOND	Tay			
tti Obsa 112 Fortürty			42000 18.6 0.7 FRONT ER 0.0 0.0 GAT HE	RING			
12H) I	PERALLOW		ABROND				
12 12 13			0.00.0				
9			0.00.0				
	10	-	12				
A20 PROGRAM SPACE		a designed and the second					
21 Gausso mai 201 Gaussi Pappant	PERALLOW		ARRONO				
20 General/Laposet 22 General/Lapose2 23 Diregtion 24	15 22 33.0 15 22 33.0 30 25 75.0	Shanddaaroo m shanddaaroo m	32 03 GATHER 32 03 GATHER 32 10 GATHER 0.0 0.0	NG NG			
	ND		0.000				
200ym 201 Benetic GartDan	PERALLOW		APOND 200 LOCATINE				
21 BenertaySadOm 22 Weighthom 23 Storge 24	12500 250 4 9 30 1 60 69	hmulipuposino new	200 12GATHER 00 0.0 G110 52 1.1 FRONTO 0.0 0.0	FFICE			
	300		2/1. 1.3				
21 Oktow Specifiz Adulain Program	PERALLOW 5 10.0 50.0		70 07 GATHER 0.0 0.0	NG	_		
22			0.0 0.0				
	500		5004				
A30 SUPPORT SPECIALTY SPACE							
31 Commercial/Advan 30 Notematin LoadingStre	PERINTALION		ASPOND 72 S DNC				
3.1.2 Gebering	1 60.0 60.0 Existing k 20 2.2 44.0	New	0.0 0.0 FRONT EN 0 0 0 75.2 1.4	TRY	Peacertai tiye t	inter to high school lab	
320hm	10						
20 Rold 32 Bin	PERALLOW 1 15.0 15.0 63.0 18.0	Non Non	ABROND 0 0 HIDN 0 0 CATH	ICHICE			
30 BainceCente	3 4.0 12.0	Nm	m m G4H	NC			
30 EduriorEventSpace 32 EduriorSpace	302266.0	Natural Natural	0.00.0 SUSINESS C 00 00 FROM 0.0 0.0 CUID	INTERNA CONTRACTOR			
20 Marior Storage 3.1.2 Event Space	1 10.0 10.0 104.040.0Gymused5	One area-theremainderis gymatotage or events currently	0.000 CUD 13.10.8 REM 0 0 CAR	ionce Inc			
	270		22				
A 10 NEWDUAL AND SHARED OFFICE SPACE A20 PROGRAM SPICE A30 SUPPORT SPICALTY SPICE	500 500 500 500 500 500 500 500 500 500	-	125 3004 722				
and an an an and	279.2		-				
TOTAL SPACE NEEDED	620 Estavior Mandal 749 A	Total Building Net A	594, 10 Existing Net Prog	am Area		CTrisps Acticue <sup>16</sup>	
TOTAL NET SPACE REQUIRED (Less APPROXIMATE TOTAL GROSS AREA SHORTFALL	NEEDED.1198.4 389	Total Building Net A Existing Gross A	Page 22			C'hispa Azietar*	